LIVE OAXK, F1L,

DI%C ONE

SET
01 FRIDAY THE 13TH JAM 4:23
02 RESTLESS WIND> 6:06

IN
E
07 VALLEY OF THE IG
08 CAN'T WAIT AN THER DAV 6:37

DISC TWO

SET
01 SYMPATHY. FOR THE DEVIL 820
02 GHOSTBUSTERS> 3:46
03 TIME WILL TELL> 657
04 LIVE AND LET DIE> 6:15
05 JUST PASSING THROUGH> 5:58
6 STAIRWAY TO HEAVEN> 9:35
DON’T FEAR THE REAPER> 413
gs BREAK O THROUGH> 620

9 HEA
10 LIVE AND LET DIE (REPRISE)> 140
11 THRILLER 6:

DISO THREE
SET THREE
01 MISS BROWN'S TEAHOUSE> 7:37
02 HOLLYWOOD SWINGIN' 728
03 YOU'VE GOT THE WORLD> 626
04 HOTEL WINDOW> 928
05 ROSIE> 41
06 ZOMBIE> :04
ROSIE 4224
08 WAY BACK HOME> 13:42
09 JUST ONE STORY
ENCORE
10 SUPERSTITION 8:04

Set 2&3 with: Rhonda Thomas & Tony White on vocals;
Antibalas Homs: Martin Perna - Baritone Sax, Flute; Jas Walton - Tenor;
Jordan McLean - Trumpet; Jeff Pierce - Trumpet, Trombone

LIVE OAIK, FL,

DISO ONE

RIDAV THE 13TH JAM 4:23
OZRES LESS WIND> 6:06
03 E)VFUL SOUND:> 15226
ONV 6.35

05 PIECE OF 822

6 GIVE M THE LOUE> 13:35
07 VALLEV OF THE )IG> 1452
08 CAN'T WAIT ANOTHER DAY 6:37

DISC TWO

01 SVMPATHV FOR THE DEVIL 820
2 GHOSTBUSTERS> 3

03 TIME WILL TELL> 6~57

04 LIVE DIE> 611

Al
o7 THE REAPER> 413
08 BREAK ON THROUGH> 620
09 HEAVEN> 6:
0 LIVE AND LET DIE (REPRISE)> 140
1 THRILLER 6:

EN
10 SUPERSTITION 8«

Set 2&3 with: Rhonda Thomas & Tony White on vocals;
Antibalas Horns: Martin Perna - Baritone Sax, Flute; Jas Walton - Tenor;
Jordan McLean - Trumpet; Jeff Pierce - Trumpet, Trombone

results), and you MUST make sure that the PAGE SCALING option is set to “NONE”. If you have PAGE SCALING set to “Fit To Printer Margins” or “Reduce to Printer Margins”, the graphics will not print at the correct size

for the standard jewel case. This is the most common problem people have when they complain about the artwork not fitting the jewel case! You can order Neato Labels from www.neato.com!
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